X
[y
(=)
&
o

=) 0'2: Y ,/_\\ '2;( !
g o : = o : g
A 0.15F et Fope o R R e | S A 1 R SRR
N 5 o F
Vo) 0.1-_ ........... E“ ..... V 0.1-_ ............................
v E : -
0.05F === F -1 MF ST F T (ON0)] oy il ERRE R | SRt Bk o R I | | R
0:— ----------- P 0:— --------------------------------------
—0.05f-+-wwereees Fefe =0.05f | ereeee e e p e
SN nllEEE RS AR O e R | B Rt 11 AR AR
=0.15F -+t Al H | N1 L EE EPEER | SRR X EEPRRES | AR EERE
.9_&2:....!....!....|........|.... .9_02:....!....!....|....|....|....
< HTH AT RN LR RIS
1:001 ﬂ N Eo <1 EE R r ,
i | i ] T AT i )
0% -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

[y
o

ETHI : : EHINE :
S 8op| IR R AR g
s 0% s
40Ft-{{HHH - g v AOR A -
v E : : F f ;
20F i ¥ 20 {1 -H- A4 B
o : b o :
OFr 11181 il i OFr( {1 %[ ;
~20f- 1|1 ~20FH {1} :
~40ft i ~40FH | 1t :
~60f} : : ~60Er 1| [l ; -
-80Fr —8OFf #{- A fH- oo
0_1@:....I....I....I.... b b 0_1@:....i....|....i....i....i....
g L L D 2 |l L N1t
1 4 - L[4
0.5{H - [ i :
3

%32 -1 0 1 2 3 %2372 1 0o 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

< opJp, > (%)

Ratio
-

B2 1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


